
(define expr5 '(with (b (newbox 4))
                     (+ (with (dummy (setbox b 5))
                              (openbox b))
                        (openbox b)))
  )
(test (run expr5) (numV 10))
(define expr6 '(with (switch (newbox 0))
                     (with (toggle (fun (dum)
                                        (if0 (openbox switch)
                                             (seqn
                                              (setbox switch 1)
                                              1) (seqn
                                                  (setbox switch 0)
                                                  0))))
                           (+ (toggle 1729)
                              (toggle 1729)))))
(test (run expr6) (numV 1))


